E= s == 2h ok [l o 4= ==
TH7EHEE  BAHILSHHRFEE FRE (FRTEFER) (4A~9A)
4 A 5 A 6 A 7 A 8 A 9 A
o | g |Rmzs ik Bmasy Ui 1 | larssa 1l 1|8 |swamneam
X £ 217 K| 1E AR ER 2FHO (BHE
(BLEEIAIL) 25 B E>TEMMR
2 |k | EEmRL) 2|&(517r—02 |2 |8 (Bpnaaamn |2 (K [PTiEpEEt il APRES
3| & 3|t |®2esn 3w |EREE L 3 |k |@Aamso 3|\ 3| %k
4\ 4 | H|#EYDHE 41K 4 | & |BABHOE 41 A 4 | K
5|+ 58 |ceton 5| & [GEMER 5|+ 5 | % 5|2 &R 29
6|8 6 | & |EBHKE 6| & |EREEDOBRER | 6 | g 6 | % 6|
£fSEHO(BAR)
7|8 AERE ST oM R E 7|8 |spExmEze  [7]% 7|\
FTRTYI H-H~1/14
FER - % ‘ 4
8 | & |Astiem 8|k|517+—23 8B 8 |k |Bhemy 8 |& 8|8
XEEAFEEERTA
Azt 547 h—0@ : N
S| & [Lmrrmrinos | O | ®|fameasm |9 | R [WEBAL ke il v|x
BRI ) |@2FREn LY S0y b 2h e
10K (B ane |10 10| & | @2 min 10|k |gEovsams  |10|8 10| A | FEZIE
BRI EAHRD ot
11| [Enmns 1| | 11| [, sz 345) 11| & [RESHERZ 141 5 lwoa MES
ZEELUE EBAL
FAEEMTA L i
s 2|8 |547+=50  |12|K|GRALER) e ottt b 12|%
AL
B i
13| @ 18]k | TE OIS 132 13| B (RESHEAS 13|k [enmra 13] +
SATh—
14| B (BRES ey [14] K |mAZE 1]+ 14| B [wummmmpe [ 14] % T 14|\
- . BRAD 2 K
15|k [EESEBOEER | 15| & |wrmpos2eom (15| 8 15| % 15| & |#REATE 15| A [#zos
e 54T h—5D
LUK T2 T 17:55 SR
16 | 16| WD soki |16 A |sox 16|k [EEEE 16|+ 16 | s |mpFHEsT17:25
SRZEAER i
sF2EFNHE
17| % |areezorenme [17] £ 17| % 17| % 17|m| 17| ok [pr=sast
1T
18| & 18| @ 18| 182 |s1pmaxt  |18|A 18| %
BEHR~8/26
19 £ 19| 8 19|k 19|+ |ReapExz |19 % 19| & |RFAEXS
&®
o |snos TN R LkEAR SR ABEAR
2|8 20| x|t 20| & |Bsexen 20| a |RES 20| K i sl il
AR Es BOARA
21| A |REEE 21| %k 21| | Bsprmedk 21| B |ReakExs  |21]% 21| B |[#EHFAFHE
, (NL—HR—IL)
o | BBEERE WRHEZ (1 F24534540) . o | BREREARS DN
2| K |[TUERE e | 2| K [Baarise 2|8 |eedrne |2k |REEEEAR 1) e 2| B |R#AKIKS
e R aHEAS & |3
23| A [P e 2| ¢ [EB2Ps 2|8 23| k| | mE M L ]2t e 3|k [Bao8
g |7 L= BEaEAS
24| K 2|t eTA P P O il 2 24|
5|2 |HHEE, 2| B [PTamtreR®  [25|k |EmT R vemEa 25| & |REAREAR  o5) g lumssormns | 25| & [BEFAREXS
SR RIS A REAHEAS il RIERE (E235)
il i 2178 2| X |gxmB0 il il A i 2| \mEmice
5. |[EB% R aHEAS % : ;
27| | 27|k [T ) 27| & [ErBHE 27| | [REEREAR | |27| k& |mopmegst |27 |mEmke
28| A |ze2EnoEa®m 28]k 28|+ 28| A [mekFme) 28]k |soxi 28| B |mEwKL
F2REEHTR
i . 5o | R0 FEE) A ha
29| & |BHIOB 29| K | EBEFHE) 2|8 29| k| Epenn sy, |29 & 2| A éu%g;;kaf)
BESE PTARS SCa#:
30| Kk iﬁ{jiﬁf%(sc)*r 30| & %g{éi(iﬁ%%) 30| A [BABHO 30| K |EmEZEaI—)L |30| £ 30 | K |£@ESFHO (BAR)
—Ih 7~ % =
3|+ IS 31| B |Prastttexe




E= s == 2h ok [l o 4= ==
THM7EE  BARILISTHHRER ZFRE (FRTEFER) (10A~38) 2025/4/20
10 A 11 A 12 A 1 A 2 B 3 A
EH{HREHO (BAR)
1|k [pmrmmTI0 |0 1| A |mmmmamme eSS i1\ 1|\
SC3k#%
2 |k |wEgarxz |2 2 | % 2 |& 2 | A |umFrsT0 |2 | B s TesTOS
3| & [eEerEss |38 [xkos 3|k [mesm 3l 3|k (BRER o | 8| K |ewmmn
A ESE T T PY P o PR E 4| 4 |k 4|k
3E=EBHO by , - RIE—RENRE
5|\ 5|k |3 5|2 5 | A |cermm 5 | & [memmmEs~20| 5 | K [RoLr BEE
SE=ZBHO s
6|8 6|K|1 211G 6|+ 6|k 6 | % |Scsesx 6 |4 |EXATOEM (25)
2 MR AMBE 3 MR ERTE
) B 3E=EBHO « .
IAPS 1¢7E;’ﬂ<#k§® T #|7 5400 1|H 11k 7 | £ |&BEEHRL 7| & [xAEEERT
8 |k 8 |+ |RREAR 8|8 8|k maxmmast | 8|\ [mEBkL 8 | B |xwmmmmrT
ZRAF
9| K|SELEBBE g lg 9 |k |Bpsm 9 | & |z2mm0 9 | A |mEmhE o | A =Rt
. XABRERTE
SEZEBHO FAEEHTR + - -
[ 1-2LTE = 5 " . W |RERERESR
10| & [Kiigze 10| A [gi2Ete, o |10] Kk |emrx ramiEn 10|+ 10| % | (1255 10| |G ERTE
sy Wi R
i e QBN A AT ES e 11|k [eERZ0R 1k |G EE T .
SE=FBHO = ¢
12| | 12|k |1 250 12| & (BR2TV7AHT 12| g mAos 12| K [wemmanEne 12| K
PR E RS
13| A |z2#—vom 13| & 13]+ 13| [BRES 13| & [1#BenFer) | 13] 2 |sess
=EBHO
14|k |meaERs | 14| % |soki o 14|k |z5E80 14|+ 4]+
_ . EpaEARy S
15|k == resmmm |15+ 15| g [ZESBBEL |5 |k |=2mue 15| 158
T " =&BHO)
16| & | (ea~2sm) ['6]F 16| % 18] paxmgazee |67 16/ A
HRHEIEAL -F . e, " »
17| & [REREE T |17] 8 |mEm 17|k [pregmat 17|+ 17| % 17| %
o o |FAzERERES RIE— A Pr=RimRs
18| & |RFAKS (&) | 18| X |Hzgims 18| & 18| B 18| K |Pros et 18| K mrpnmsin
19| B |[ReAxz 0 | 10|k |mmmk 19| % |sost HEIES TG 19|k |smzeas  [10] X [gEo s za0
FEIEEHMT R +
20| A [kiu=e 20|k|(F2rE® 20|+ 20| % |=58HD 20| % |sosix 2|2 |#s08
AR L
21|k |Kisz@ 21| 4 [scoriz 21| | 21| % il 21|+
22| Ak [Tzt 2|t 2|8 2| K B TRETI6S |2| 8 2|8
RERE (E2)
23| K [ERREAR 23| 8 |ssEsoR 23| x |zresnoEa®m |28 | % |sckE 23| B |R28tR 2| A
PIAGRREZAS
24| % [MmEERES | 24| A [®EKE 24k 2|+ 2| % 24|k %707 EREETR
2|+ 25| x P ENEPESTE = P 25| K |72 paREa |25 |k
2%| 8 26|k |2ETqF LoD [26| % |[2Btk%~1/1 26| A |mwamvean (26| & [EEEEVOEHR 16| K passten
ERE2EDD 2T LY " - "
21| A |na whsne |21 K| zanae=g |27t 27| K | 3 E BkEHAI 27| % [scsix 27| ¢
5o |l oo
28| w |SERER . Lo [8|2|2#c 7L (28] 8 28 K 28|+ 28|+
29| K |xfes 29|+ 29| B |ExEmmr~1/5 | 20| K |[RumseRmLR 2|8
SRR 1 W EHESEDO(BAW Y
30| [FEEL 2|\ 30| % 20| ¢ [EE2ENOEE 0| A |@astren)
3| 31| K 3|+ 31| %




